THE BRETTON‑WOODS AGREEMENT

· Lucky Strike cigarettes: 

· $/DM =

I. Introduction


A. Balance of Payments

The BOP:

(1) Current Account:

· BOT: (Balance of Trade)

· BOS: (Balance of Services)

· Another way to look at the Current Account:

· GNP defined:

· GDP defined:

(2) Capital Account: 

(3) Official Reserves:

Summary:

· The BOP= Current account + Capital account + Official Reserves = 0


B. Types of Exchange Rate Systems



1 . Fixed Exchange Rate System:



2. Freely Floating Exchange Rate System:



3. Managed (                  )Floating Exchange Rate System:



4. Pegged Exchange Rate System:



5. Joint Float Exchange Rate System:


C. The Postwar System

The Bretton‑Woods agreement established the following system:



1. The IMF:

2. The U.S. Dollar as a Reserve Currency: 


3. Currencies Would be Pegged to the Dollar:



4. No Changes in Par Value:



5. Convertible Currencies:



6. IMF Membership:

II. Implications of Bretton-Woods Agreement
· Since the Bretton‑Woods agreement allowed for the free trade of member country's currency:

· Thus, in order for the U.S. to peg the price of gold a          *    stock of gold was necessary to supply to the market whenever the tendency was for the price to increase; and, a large stock of dollars was necessary to       *     gold whenever there was a tendency for the market price of gold to go down.

· Foreign Central Banks were forced to engage in similar transactions only with respect to the U.S *  instead of  *  If a foreign Central bank set an exchange rate that *  the dollar then the Central bank would lose reserves (i.e. the country would run a BOP *). Conversely, if the pegged rate *  the dollar, the Central Bank would gain reserves (i.e. the country would run a BOP  *).

· The U.S. commitment to buy and sell gold for implied:
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· The  * Plan was established to ensure an adequate supply of dollars to European economies to enable then to intervene in the exchange markets, rebuild and become capable military allies of the U.S. against the Soviet Union. The  * (OECD) was set up to administer the Marshall Plan.

· The Bretton‑Woods agreement established  * currencies which could be spent anywhere in the world for goods and  *  currencies which had to be spent in the country in which they were earned.

III. The Origins of SDRs and ‑the Eurodollar Market

· For a currency to be attractive as a reserve asset the following criteria must be met:



1 . an absence of  * controls; 

2. an absence of  * ​controls and taxes that would prevent the currency from earning a competitive *



3. * stability; and,



4. low  * costs afforded by wide spread use(i.e. liquidity).

A. Origins of SDRs

· In the early 1960s there was no realistic alternative to the U.S. dollar as a reserve asset. However, Charles de Gaulle of  * was *  to Bretton Woods because the international monetary system was organized with the U.S. dollar as a reserve currency. de Gaulle was deeply resentful that the U.S. dollar was used as a reserve currency rather than the French Franc.

· In the fall of  *  the U.S. joined with Great Britain, Switzerland and market countries to maintain the price of gold within a narrow range around $35 per ounce. This coordinated effort was known as the  *

· In March 1968, the effort to control the private market price of gold was  * ; a two-tiered system began: the free market price of gold and the  * price of gold. The two‑tier system was abandoned in November 1973.

· While France wanted to replace the dollar as a  *
asset,

other nations were looking instead for a replacement for *​

The Group of Ten OECD nations with the most voting rights in the IMF

decided to create an  *reserve asset that would be traded

among central banks in settlement of reserves. The new asset was named

a  *  (SDR) in deference to the

French who did not want it called a reserve asset.

B. Origins of the Eurodollar Market

· By 1960 total foreign dollar claims on the U.S. were  * than the total value of U.S. gold stock when gold was valued at $35 per ounce. If all foreign official dollars were turned in for gold at the same time the U.S. would either run out of * or be forced to  * the dollar. 

· Although this is not a problem in practice (any more than it is, a problem that banks have more demand deposits than cash), it was treated as a political problem for a variety of reasons.

· As a solution to this political problem, President JFK proposed an __________ _________ ______(IET) on foreign purchases of U.S. debt and a ______ (FCRP). The effect of the IET and the FCRP was to give a strong impetus to the growth of the  _____________ market.

IV. The Fall of the Bretton‑Woods Agreement

· In order for a system of fixed exchange rates to succeed __________policies must be coordinated. Such coordination over the long‑run is impossible. Inevitably the U.S.'s economic policies began to conflict with the policies desired by __________ and __________. Such conflict resulted in the obvious ______ of the DM and Yen relative to the U.S. dollar.

· The U.S. adopted a policy of  *  (i.e. doing nothing) which shifted the burden of maintaining appropriate par value to Germany and Japan.

· On December 17, 19____ an attempt was made by the G‑ 10 to keep the Bretton‑Woods system going by reaching the * Agreement. The price of gold was officially increased to $ ____ per ounce. On February 12, 19___ the U.S. announced a ___% devaluation of the dollar and a de facto regime of floating exchange rates began.
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